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2 (a) Find the value of x xy2 5−  when x = 3 and y = −2.

(b) Solve for x and y
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3 (a) Given that ax + b = c, express x in terms of a, b and c, where a ≠ 0.

(b) (i) Find A, the solution set of 3 2 4x x− ≤ ∈, .Z

(ii) Find B, the solution set of 1 3
2

5−
< ∈

x x, .Z

(iii)List the elements of A B∩ .

(c) Let f x x x x( ) .= − − +2 3 11 63 2

(i) Verify that f (3) = 0.

(ii) Solve the equation
2 3 11 60 03 2x x x− − + = .

ANSWERS

2 (a) 39
(b) ( , ), ( , )−1 1 5 4

(c) (i) x
x
+1 (ii) 2 (iii) x = 5

3 (a) x c b
a

=
−

(b) (i) x ≤ 2  or {..... , , , , , }− − −3 2 1 0 1 2

(ii) x > −3  or { , , , , , ....}− −2 1 0 1 2 3
(iii) { , , , , }− −2 1 0 1 2

(c) x = −2 31
2, ,

(© Tony Kelly & Kieran Mills)


